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Stuut\p
apnqpur2ru{rp

oPtbPn{

Urlurqurbnt \rl.fhg
uurhrtrutnlurb

4pnqpur2ullrtpp /21
nnullnrl/

I 2 3 4

SnI,fPbf

I

h2rllrurblrh hullulbPlt
rlurp2ur\urtr urrupurbpnr-ri

durpururpurqhrnur2]rLurpurpur\
urtr tnuluuqbfir

hurtlurqurtnurulurutr' huniurltrp|
rlup2ur\urh murpurbpnul bnP

2thptplr, 2]rhntplnthhhplr b n2

hllfhur\urh 2|rhntpl nthhtpft

ur) hfnlhur\rutr 2ttrphplr h 2|rhntplnttrhhplr huilutp

rllrh2h 300 purnru\ntulr rlhtnp phlhurtrntp rlur\hptu mhhgnrl

urhhulnru\urh pbur\hfir, uryl prlmd' urlqhqnpbru\ult
(unfurnruLngurlfir) urhtp]r, ]rtr2qhu Lurh d]rh2h 200 prunur\ntu]r rittnp
ph4hurhntp rlur\tphu mtrhgnq huruurpur\ur\urh h urpurur4pur\urh

hcurburtntnturh rhhphnh h rhhntplnthhtplr hruilurp

15000

/ururutrhlrhq hruqup/

p) untltr \turlr "ur, hLpur\hrnnrl irruluunnhurlurb oPlhhurJrtPlr huduF

200-|rg illlh2L 500 purnur\ntulr rlhurp phlhurtrntp riur\tphu nthtgnrl

2ttrptplr h 2|rtrntplnttrhhplr hurtfurp' tptunth hurqurll 4nurd.
12-pr1 hnr5lurbir 4-pr1 rlurulr hulftu&urlh uurhrlurlnlurb lpntlpurlulfrp
huruilurntht 1,5 qnnburugh \]rprundutlp

45000

/prunurunthhlrtrq huqup/

500-]rg ilhtr2b 1000 purnur\ntulr riturp ptrrlhurhntp rlur\hptu nrhhgnrl

2thphplr h 2]rhntplntLtrhglr huliurp' hlrumh hurqurp rgrull.
12-pr1 hnrplrub|r 4-p4 rlurulr hutrlur&urlh uurhrlurhrlurb rlpmlpur2unlrp

hurrtlurnbtt 2 qrnburhgh ltlrpurnrlulip

100 000

/hurpptp hruqurp/

2]rhurpurpntpl urh (rnhrluupdutr)
(purgurnntplulfp 2urluruurruLlt

lurtrpurqhrnnr-pprtr
ophtrurpntplullp uruhdurh{urb

1000-|rg rlirh2h 3000 purnur\ntulr riturp ghqhurhmp rlur\tphu nttrhgnrl

2thptplr h 2]rtrntplmtrhkplr hurilurp' hlrunth hurqurp rlnuld.

l2-pq hnArlurblr 4-p1 rlurulr hullurdurStr uruhriutr{urb 4pntlpur2ul}rp
hurrrlurnhtt 2,5 qnnburllgh \|rpunilurilp

125 000

/hurp;mp puulth[Lq
huqup/

2]rburpurpntplurh
pnrllnrlntplnth 2rqurhub2nrl
+trytflr) pntllunlntplurh
. hurilup

3000-|rg h unltfr prunur\ntulr riturplb4hurtrmp rlur\tptu nthhgnrl

2ttrptplr h 2]rtrntppttrhhplr hurtlurp' hruplntp hurqurp rgrunl.

12-p1 hqrlurb[ 4-p1 iluru]r hurtlur&urlh uurhrlurtllurb rgrntlpur2ul[rp

hurorhunttr 3 qnnburbqh hhnurnrlunlp

300 000

/hptp hurplntp huqup/

q) n2 hlrrltrur\uh 2]rturtplnthhhpfr rnhrlu4prlurtr huriurp'

rllrtr2h 20 purnur\ntulr rlhurp pL4hurtmtp rfur\hpbu nthhgnl 2tLptp[ lt
ohhmnrmhhhnh hullurn' hnkp hurqurn nnunl

3000

/hnhp hurqun/

20 h unlhflr punur\ntu]r rlhutp pt4hurhntp rfur\hptu nthhgnrl 2hhptp]t
h zhhmBtmtrhtnh hunlurp' hlrhq hurqurp 4puli:

s000

/hhLo hurourn/

2.

L2rllrurblrh hultulhplt
rlurp2ur\urtr rnu4urbpnttl
qllmplnth nthtgrul 2tLptpb U

2]rLmplntbhhplt
rlhpur\runnrytlurtr,

{hpurllurhqllfurh, ndtrlurgtlurh,
urp{rur\urhurgrlurh h
purpt\urpqtlurtr
ur2luulnurbphtpI
(purgurnntplulfp 2urluruurutblr.

2urtpurqhurntplurh
ophhu4pntplullp uurhrlurLrlurb'

2]rtnupurpntplurtr
pntllunlntplnr-h 2quhuL2{nr1
lhrytph) pnt1ln{ntplurh
hullurp, hph uruhrlurtr{ub

ur) 2|r trurluulnhu{ntrl \gur\urnntlghtp}r, rltptrur\runnr-lghhpll, 2tLptl
qurpurpllnurl|rtr 2ulfrhptr glqlurlhnl u1 llurnntlgtrhplr (ug1 p{ntil'
utnnpqtrnhlur) hturhurtrpnrl oplt\urf plqhruhntp rlur\tptult
urrltlurgnul \ulf 2ttrptplr qnpburnur\urtr tr2urhu\ntpprtr
rlrnrlrnlumplnttr' tptp hurqurp rputf.
l2-pq hn4rlurblr 4-p1 tlurulr hullurdurlh uuthrfurhr{urb lpnr-1pur2ul}p
hur2rlurp\t1 3 qnlbur\gb l}purmlunfp

9000

{rhg hurqurp/

F) purgb 2tLptplr h 2|rtratplnthhhplr rlhpur\urnntgriurh,
ndhlurgrlurh, rlhpur\urtrqtrdurh \*,1 urp4|ru\urhugrlurh
ur2]uruunuhptrhpirg, hurluururturlntd k huh \gur\urnntlghhp|'
rlhpbur\urnntlgbtpb, 2tbpb urpurilur2ullrurl]rh 2ullrtph gtrrllurltmq u1
\urnnrlghhpfr (ur14 prlnul' urnnpqhurblur) hhrnhurhpnrl oplt\utlt
ghlhurhmp riur\tphulr urrltlugnul \ull 2hhptplr qnpburnu\uh
h2urhu\ntplurtr rlrnr[n]untplnth, h prug]r untlh \trn]r .ur, hhpru\hr'nnrl

uurhrftuhrlurb 4pntlpur2ur{r}r,

\|rpurnrlnul htr hurh turp

2|rhurpupntplurtr hunfurp

untlh hullhltiub[ l-hl,
\tunrl uurhrlurhrlurb
bnprlhpp U

rlpmlpur2urrlrtpp' 2thptpir
h 2|rLntplntLbhplt
pt4hurLntp rlur\hphuit
unltlurgrlurh \uril 2tLphplt
qnpburnut\ult
h2urhur\ntplurh
rlrnrfrnluntpluth iluun{.



\upqn{ hruuurunnrlurb
durpururpruqhrnur2]rhurpurpru\
urb huluuqbml'

q) burluuurhurlm{ t rl}rur;h \gur\unmlghhp}r, rlhptnu\runntlglrtp},
2thplr qurpurpfnnurl]rh 2ulirhph phqlurlhnl urll \runmlgtrhpb (urFI

p{m{' uurnpqburLlur) 2}rhrupurpmplnth \ull 2hhptp}r qnptrunur\ruh
h2urhur\nrplurtr rlrnrlnfu ntplnrh, urqur

ophLp[ ]ntururnml,
ur;h hulftuprlnr-rl L lrrl
2frlrurprupmplnrh, nnb
h\uruntrurfp \]rprumlntrl htr
lmp 2]rlnuprupntpSurtr
hurtlurp unqtr hur{t6lrub}r
l-[t \hun{ uurhrftutnlurE
hnpilhpp U

rytntlpur2ullrhpp:

J.

h2tllub[h hurilurltrp]r

{up2ur\urtr ururpurbpnul

2tLptplr, 2]rhmpprtrhhplr L
purlupu2irhur\urtr ulll
oplh\uLtplr purhrplurh
(purgurnntpSullp 2ruSuruururblr
2urhpurqtuntp3urh
ophhulpntplullp uurhrlutr{uE'
pru\durh pnt;lunlnrplnrh
2quhurb2{nq fkqptph)
ranrtt uilmntnr-tr hurilurn'

hfhq hruqurp rylurf.
5000

/hlLq hurqurp/ qpurl

4.

h2df urblrh hunlurltplr

{up2ur\ruh ururputbpntrl hhrt"t
.l*htrpl , uhqrftlrub phur\urh

\uil hhrlm\urgrlurb hul{pru1}rh
qurqhph {urdurnp}r
pnqltntlntp;urh hunlurp,
opurgml gurl|rh ururprlur hudurp'
hnhnt hruntmn hurourn nnurtl

hhln{ {unh[rp[' ptrfaurgh\ ururprlur hrurlurp 200 0004puril
200 000

/tp\nr huplntp hruqru/

uhlilrlurb phur\urh \urd htrlnt\urgrlub hunlpul]rh qurqhplr hulftup
opurgnr-gurl]rtr ururprlur hrurlurp 4pnrlpur2ullrp uurhrlutrhl l2-pr1
hqrlurbt 3-pq rlurulr huntur&ur1h l,5 urtrqunl rurlbl 300 000

/hphp hurpSmp hurqurp/

5.

h2il[ubfL hurfur3trp]r

{up2ur\urh r.nurprubpnul
qtnhrlnl |uurtrntptrtpmrl,
\pqur\trhpnuf hhlm\
rl*h}pt, uhldrlrub ptrru\urh

\ull hhqn{urgrlrub trunlpurl}rtr
qurqtpb rlutrpurbulu urnhr-urplr

\tr.nhpmrt, \*rI
u{nnilhpttrurhhp}r
uhlublr\ur\uh uquruurpll{urh h
hnpnqriuh burnurlmp;urh
oplh\uhhpntd urhlutrlr\ur\urh
htlm\trtplr {urdurnp}r
ramt I urd ntrauuh hrudurn.

opurgnrgurl]rh ururp{ur hunlurp' rlrupumh hruqrup ryrunf. 60 m0

{urpunrh hurqurp/

6.

h2il|ub[b hunlurlhp]r

{up2ur\ruh ururpurbpnul
puL\urpdhp rlhunultrhplrg
qurtnpuruurlurb ]rphplr npn2ur\ir
rlurlpnr-d rlurhpurburlu runp nL

rlurdurnp ]rpur\urtrurgtrtlnr
pnt11 unlntplurh hur{urn'

opurgnrgurl[rh rnup{ur hunlurp' h}rumtr hurqurp qprurl.
s0 000

/hlrumh hlrtrqhuqul1r/

u. nqhfrg L urfinhnlurl]rtr lorttrph rlurdurnp[r pnqpnrlntpph hurlurp,3nqurprutryntp
hnullulru\]r hur{urp'

{[L2U 26 purnur\ntu]r rlhurp ptrrlhuhmp rlur\hphu nttrhgnl h]lltrur\urtr
L n2 h[dtrur\urh 2]rhntplnr-trhhp]r hbpumrl t[udurnp]r \uqrlur\tpuldurtr
4hqpnuf'rllrtrlL ururu hurqurp rlhb nnunl.

10 000

/ururu hurqurp/

26-hg iltrU2U 50 purnur\ntuh rth*p phlhurtrntp riru\hphu nthhgnrl
hlnlhur\urtr h n2 hllfhur\urtr 2|rbmplmtrhhplr trhpumrt rlud*oph
\urqrlur\hpqilurh ltulpmrl' uuru hurqurp rIhU Apunllrg rllrtr2h 

-

ururutrhFhp hurqurp rth\ 4pull

13 000

/uurutrhptp hurqur/

50-hg tltrL2L 100 purnur\mulr rlhurp pl4hrutrntp rlu\hptu nr"trtgrul
h[dLu\urL h nl h]nlhur\urtr 2[rLnrplnthhhp[r trtpumrl rludurnp]r
\uqrlur\hpqrlutr 4hqpntrl nurutrtptp hurqurp rlh\ lpuntlrg ilhLltr
puurh hurqurlr dh\ 4prud.

20 000

/puruh hurqurp/

100-hg dbb2L 200 purnru\nrulr rltrnp gLqhurtrmp rlur\hphu mtrtgnrl
hlulhru\urtr h ng hlufhur\ruh 2|rtrmplnr.trhhplr trhpunul {urdurnp}r
\urqilur\hpqrfurh rlhqpm{' puurtr hurqurp dt\ ,ffr*dhg ,fttQlr
puurhhlrhq hurqurp rlh\ rgrunl.

3m00
/hphuntt hurqrup/

12-pl tuqrlublr, 3-nrt
rlurulr hur{urArult 20 000

/puurh huqurp/-|r
b\ruullulfp \|rprunhl 1,5

nnmtpurturrhn



hgi[ub]rtr hurilurlhp[r

{up2ru\utr rnurpurbpnr-tf nqh$S
h urfinhnlul|rh fuil[r2phtp]r \ulf
ophhpn{ uruhilutnlurb
uurhrlurhul[ur\nr-dtrhpirh
hrurlurqurururuluurh
bluurlunururl]rtr
upururrpunntuu\hhplr \unf
bluurlunrnurlftr
urprnurrlpururtuur\hhplr

$nfuupfir]r2hhp]r \urd
bluulunururl[rh
urpnulpulnhuru\hhplr
tlfurhur\htplr rlrudurnplr
pmllnrlntplurtr hunlurp'

200-hg rlhLlr 500 purnur\nr-ulr riturp plqhurhntp rlur\hphu nttrtgnrl
hlrrlhur\urh h n2 hlnlhur\urh 2frhmp;nthtrtplr trhpuntd rlurdurnplr
\urqrftu\hpqrlurh qhqpnr.d' puurtrhlrhq hurqurp Utq ryrunflrg ilhhlil

45000

/purnruuntrhlrhq huqrup/

500 h urrlhfir purnur\nr-u]r riburp gl4hurtrnr-p rlur\hptu nrtrhgnrl
hf{bu\uh tr n2 h}rilhur\ruh 2}rtrnrplnrhhhp}r Lrhpuntr.l {ur6unp}r
\urqrfur\tpqrtutr 4tqpnrrl purnurunrtrhlrtrq hurqurp ilh\ +pulfhg

60 000

/rlurpunrtr hurqu/

p. opbhpnrl uurhdurlllrub utuhrfurhullrur\nufhhplh hrurl*rl@
urprnur4pururtuur\hhplr \unt bluurlunururl|rtr urpurur4pulnturu\htplr rirntuurplrt{rjtrhp}r l1uril

bluufuntnurl]rtr urpuur4pruurhuru\trtplr t^Iurtur\irhplr rlurdurnplr pmrnrlnrpgruh hruJurp.

ttu\tpqrlurtr 1fturpm{ rl}rhlh uruup hurqrun {Hr nnull.

{[Lyb 26 purnur\nr-ufr rlhurp phlhurt n,_p rlurqhphu n.t Ugn{
hfrfhur\urtr L n1 hlnlhru\urh 2[rhmplmhhtp[r trtpumrl rlurdunp[i

26-[9 d[rtr2tr 50 prunur\mu]r {trnp ptrqhurtrmp il*qUp[,, 
".t 

Ug"rl
hfdtrur\urh h n2 hlllhru\ur\ 2lrbntfrlnthhhplr hhpumrl rlurdurnplr
\urqrtur\tpqrturh 4hqpnrd' rrr*"t t *q*p rlh\- rlfulilrg rlhhrr

13m0
/rnuruhtphp hurqu{/

50-bg ilhtr2L 100 purnru\mufr rlturp ph4hurhmp durqUptu *t Ugruf
hfilLur\urtr h n2 hluftrur\uL 2|rfrmplmtrhbplr trtpumrt {urfurnp}i
\urqrtur\hlqrturL lbqBnul' uuuhtphp hurqurp .ftU +p*rfirg rthlrli,
puurh hurqurp rft\ rUlurd.
l2-p1 hnqrlrubh,3-m rlurulr hul{ur&ur;L 17 0OO /ururuLlnp hurqurp /_}r
tr\unnrfturfp \]rpurnhl 1,5 rpnrlpur2unfrp

25 500

/puuhhlrLq huqtun hlrhg
hurplmp/

100-hg ilhL2L 200 purnru\mulr dhup pLlhurtrnr_p ,I;tlhFU" 
"r.t 

tg"rl
h[rtihur\rutr h n2 h]lftrur\ruL 2]rhmplnrhhhp]r hhpuntrl {rudurnpir
\urqrlur\tpqrlurtr ltqpmrl' puurh huqup rlt\ ryrutths {t bll
puurtrhlrtrq hurqurp ilt\ rlprud.
12-pr1 hqrlublr, }m rlurulr hunlurAurlL 20 0OO /puurtr hruqrup/_[r
h\urmfultp \]rpurn[ 1,5 4pmlpu2urr[rg

300m
&ptuntr hruqrup/

200-bg UlrLlb 500 purnur\mulr rlhurp gt4hurhmp rl*tlLph" 
".t 

bg"rt
hlr{hru\urtr h n2 h}rdhur\urtr 2}rLntplmhtrhp}r trhpumrl rlurXrunp}i
\urqrftu\hpqrfiuh rltqpmrf' puurLhirtrq huqurp rfUq rlpur{ig {bt1i

45000

/prunruunrtrhlrtrq hruqurp/

500 h ullt$ purnur\ntulr ilhrnp gtqhrut ".p U*qUpU.*t tg"rt
h|ilhu\urL tr n2 hlrrlhur!.urt 2]rtrnLplmLtrhplr htpumrl rlur6urnplr
\uqrfurlltpqilrutr rltqpnr-rl' purnurumhhlrbq L*q*p Uh\ 

-Ilu{ii
rlhhrh hurntntn hurourn rItL nnurrf

60 000

/rlurpunth hruqurp/

[pullurputrur\uh ruhArutrg h
urLhunn d,hntrurp\ururbphplrh
hurlur3trplr {urp2ur\urli
rnurpurbpmrl olJnhtnplr h
brunru3nplmhtrhplr druulrtr,
2urluruururb|
2tuhpurqhurmpluh optlrpn{
uurhrlurhrlurb FugopJru urnhurplr

\ruqrlur\hpullurh

bu{r\Ltp}r, urL\}rtrtp}r, ullurhnplur *t *tl*-*1*.p1*t t ffihutlurp hurluunnhurlub hqhtrhLhpb h undlrhtplr, fnh, ruyl forl".rt.hutrpurl|rtr, hlmpbplr h qnrlurgntglr2 gilutbgphipb l*glp1",
urnhurnrplr {}UentU lnr_prupurhgnrp opqul hur{urp. Uptp frurpynp
hlrunrh 4purt' ilt\ purnru\ntulr rtUu,fp Uuri-p.

350

/hptp hupprp hlruntV

qulqulu\|r purgoplur urnhrnnrplr thqpnul 1r.p*p*lr5rr.p opq*
hullurp \fpurntl l2-pq hqr{ubl, 2-m rlurunrl.uurhrl*1q*t 

- 
ti,S

t7s
lhurpprp

ppurhuumtrhlrhq/

h2rf[ub]rtr hulfurltrp[r
{rup2ru\urtr ururpurbpnr-rf
urnLurplr, hurLpurl]rtr uhlufr,
q{updurLp}r, 2tuhmttml
Ioqhpl h rlirdurluluuqhntr
\uqrtur\hpqdruh oplh\urhhplrtr,

|uuulururtrtplrtr h purqLhpLtphL
(uumhurhhplrh) durrlp 24.00-|rg
hhtnn ur2|uururblnt
pntlltn{nqgSurt hurdurp'
opugulgurl|rtr uluprlur hulfurp.

u. urnhurplr op3h\urhtplr huuiup' hlrhq hurqurplrg ,Iirt2l, t+"",-t

p. hutrpurl|rh utrhrfir h q{urpdurup}r "@huqupirg rtlrtrlh hurplnrp hurqurn nnrurl.

200 000
/tp\nt hrup;nl.p hruqurp/

q. puqtrlrphhplr (uurnrtrurhtpli) hurilurp. Upq". h*pjrr.p t*q*1r1rg
ilbb2U hlrtrq hurp;ntp hurqurp lpur{.

ry |uurrlulnthplr hunfurp' hirhq hurplnr.p t *q*pSg .Ihlrft Jhll .IhGt

h. 2urhmrlnrl lu*lhnh hu^turp' tpq". t*@
ilhL2h hlrhq hurplnrp luuqurp qprurf.

500 000

/hlrlrq hruplmp hurqurp/

q. {fdur\ur}uu{hph hur{urp' hruplmp hurqurpirg ,Iht rt h*nl".p
hlrunth hurqurp 4pull. 100 000

/hurplntp hruquly'

u. hllihurllurtr 2|rtrnrygnrhLhp| trhpumrl

riru\hphu nrhtqnn hurh

l0m0
/ururu hurqrup/

8.

9.

50 000

lhhunth hurourn/

100 000

/hurntntn hurourn/

l 000 000

/iltt tlhrhntr/

7500



"lrt 
tlh 

"Flhtl*}, 
h*rturp' rllrtr2tr hlrhq hurqurg dh\ rlprurl'

,Ip"Up*t*+Lhru2rlurp\h1 12-p1 hnrplurblr 3-p1 rlurulr hrurlurAurlh l'5

h2il|rurblrb pu{urPh {urPlut\utlt
tnurprubpnuf' hullurStrpul]rtr

\urtrnhtrtpItr
hurdunqurururuluurh, hurtrprulllt
uhlqir \urqrlur\Epqrfurh U

]rpurgdurh pnr-11ur{nrPlurh

hurilurp urhlur\ruh unLPPE

lmpurpuirgmp hnullulur\fr
hullurp uurh{urhr[nuf t'

10 000

/ururu hurqurp/

,6:t g .tblUt, 50 P,""ur\ntulr rlhurp gtrlhutrntp rlur\bphu nthhgnrl

ft*Lp*1irf, 
"frfrrp 

oplh\urlr hunlurp' hlrtrq hruqurp db\ lprurllrg ilbtl2tr

5O+g ,ItttUt 100 punur\ntulr rlhrnp ghlhurhntp rlur\bptu nttrtgnrl

fr*L[*11tf, rrfrlufr oplh\rn]r hunlurp' ururu hurqrup rlt\ 4prurf[rg UbL2b

to0+g ,It lrlt ,00 purnru\nr'ulr rlhurp gbqhrutrntp dur\hpbu nttrhgnrl

hurtrpurl|rh uhh{r oplh\ur}r hunlurp' ururuLh}rhq hruqurp rlt\ \puilbg

,00+g ,It t lt 500 purnur\nr-ulr rlturp gl4hurtrntp rlur\hptu ntlrtgnrl

frurfrpurl[tr uhhq]r oplh\ur]r hulfurp' puurtr hurqurp rlt\ ryrurilhg {trb2h

50 000

/hlrunth hruqurp/

SOO t *,1U1, purnru\ntulr rlhurp plqhurhmp rfur\hptu mhhgnrl

hurhpurl]rb utrh{r oplh\ur}r hullurp' hphumL hurqurp rlh\ rynurl}rg
rllrlilr hiruntr hurqurp rlh\ 4puf.

1500

/hruqup hlrtrqhruppt1t/
rilrh2h 26 purnur\nrulr rlturp phlhrutrn4 rlur\tphu nrhhgnq hrubput;[tt

uht4fr oplh\urlr hurrfurp' rllrh2h hruqurp rlh\ rmuU.

12-pr1 hnrplurblr, 3-t + rlurulr hunftu&u1L I 000 / hruqurp/-]r b\ruunfiu{p

\]rpurnbl 1,5 4pntlprulurrlrg

3000

/hpbp hruqrup/

26-]19 ilbtrr 50 purnur\ntulr dhurp. ghlhruhntp rlur\hphu mhtgnrl

n*Lp*1irtr-"t tr{r oplt\ur}r hunlurp' hurqurp rft\ apunl}rg rf}rh2h

hp\nt hruqurp rlh\ rlpu{.
12-p1 hn4rlrublr, 3-pq rlurulr hrudurAurlh 2 000 / bp\nt hurqrup/-|t

6000

/tlhg huqup/

50-|rg rtbLlU 100 purnru\ntulr rlhurp ptrqhuhntp rlu\tphu nttrhgnrl

l*Lp*11,t, rrt lqlr oplh\urlr huliurp' hp\nt hurqurp rlt\ +prurtlrg rlbtr2b

2npu hurqurp rfh\ rynurt.
12-p1 hnrplurbtt, 3-ptt rluulr hurrftud,urltr 4 000 /2npu hurqurp/-]t

12000

/rnruutrhp\n hulqur/
IOO-]rg tlhblL 200 purnur\ntulr rlturp pL4hurbntp rlur\tphu nttrtgnrl

hurtrpurl|rh uhtqlr oplt\urlr hunlurp' 2npu hruqurp rft\ lpuqrg fbhlr
mp hurqurp rlh\ 4purf.
l2-p4 hnrylrubh, 3-f{ rluru}r hur{ur&ur1b 8 000 / ntp huqup/-}t

22 500

/puurtrhp\nt huqurp hlLq
hruppd

200-]rg ilhh2L 500 punur\ntu[ dbrnp lhlhurhntp rlur\bphu nthtgnrl

hurtrpurl|rtr uhtr4]r oplh\rnlr hurilurp' mp hurqurp rih\ r1purillrg dtlh2tr

ururutrhlrhq hruqurp {h\ qprurl.

l2-p4 hnrylurblr, 3-m rftuu[r hrudur&ru1L 15 000 /ururubh]rhq hurqrud-b

37 500

/tpLunt\np hruqup h[bq
hu,flnd

500 h ullhfr purnur\nr-ulr rlhrnp phqhurtmtp dru\tphu ntrbgnrl
hurtrpurl|rh utrtrrl|r oplh\ulr hrurfurp' ururuhhlrhq huqurp rlh\ {PurrlhS
rllrh2h puuLhlrhq hruqurp rlt\ 1puil.
12-pr1 hn4tlubh, 3-n+ durulr hunfur&ur1h 25 000 / puurLhlrhq huqup/-]t
trLunnr,fulfp lrhnurntt 1,5

urntpplr h\ururrtuulp uurhdurhtl urpurnhntplnth' qrnlur\rutr

rgrntlpurlurlrfr \[purnnufnrl

puulupurl|rh phur\urtlurlptpnt{
ullurqurtrnt npn2rftutlP

uurhrftuhrlurb tntrurl|rtr

\h\urtrirtrhp u1uhh1n1

p".11t rrl",-pluttr hur{urp'
opurgnqurl|rtr ururprlur hurilrup'

ru. ur$nhn1ur1|rtr uqlrpurh qrupmtnu\ntplnr-hp U}rlt2h 20

bunlurlurl[tr urn\nu urpuruqpurtrp qnrlurqrpl ruprnrup]rtr qlqulqq],
ullurqurhnt uurhrturh{rub

\*ng},t nL qurliluhLhpltlt
hullurqurururuluurh h2il|ubltt
hurdrulhplr rlurp2ut\utt
ururpurbpntil urpururplrh qn{uq+
rntrpuqptlnt pnr-;1ur{ntplurtr

hurilurp, purgurnnrplur{p bpLurtt
purqurpb h rilr2ultrnur\urtr nt
hurhpurqhrnur\urh
h2rutrur\ntp3rutr

p. pmhrl ur$nhn1ur3|rh (uq}rpurt, qurpnthru\nr-plmtrp 20 L u{h[t
bullurlurllrh urn\nu) rupr.nulpurhp qnrlurqlnrl rupururplrh qntluqdt

q. unglrurlur\urh qrtlurq{r hunlurp' qpn lpunl

4. urlt ulmtuplrtr qntltuq{r huulurp' hurqurp h}rhq hurplntp lpunf.



/ hruqrun hhhq hurPPtlt/
t2. I urr{urndnp}r1ur1}rL t

durhurquphhhPlr oururPrtuh 
l

2tpurhpnul h qur2urqruhur\uh 
I

P' hrurluStrPlr

r{urp2ur\urh Lip*tp"i*f urll urpururP}'t' q"tl*q+ urtluulphlnt
,,h'frrrtulrnh rnnrnoh 25 o/o-h rrurtunl.

375

&phphuPlmP
rnrourtruruntbhlrbq/qnulFuhlntu lrrE\ururt+rl

ql{ulqr}btph
pmlluulntplnthLtPlr,

lntpurpruL5ntp unllru 
. 
Uhtl

purnur\ntulr rlhurPlr hunlurP

150

/hupprphlrunt/

qJpt urpururplrh qmlurqt ururpurbo{ qltl*q1*.qFnp urhqupur2luEl

t *-p*ti1 f 
- 
ftn ff*qU*ffUpq"tf'!*t' Pl*q+n hrurhu$rplr

r{urp2urtlurtr 
-ururpurbpnttf 

ru11 rupururp}rh qnqurql rnhrluqphlnt

pnqirrr.1".pprt, hru{urp uurh{ruLrlurb uInLFPh 10 o/o-}r 2ul}rn{:

100 000

/hruplntp hruqruly'

13.

L2rllrurblrtr huthulLPlt

]unphprlurhlr2hpp (qlrtrurh2uL,

urlnlurhmrl h u;[r) nPqhu
ophhpn{ qPurtrgtlub

uqpurhpurl|rlr tr2urL,

urqpurbptrhplr urpuruugrntplurh,

ur2|uurururhphhplr \urururprhuL,
burnurlntplnr-hhtplr rlunnntgrlurtr

qnpbghpurghbPnttl
oqrnurqnpbtlnt pntllurrlntpluh
hullurn

oprugntgurl|rtr rnuipr{ur hullurp' hruplntp hurqurp lpul'l'

14.

L2rlirurblrh hrurlurlhPlr

r{urp2ur\urh ururPurbPnul

rlurp4unnurp-uurPunt
(purgunntplurrlp hPPnqur3|rlt

tnurpulrhbpit
rllr\pnur{rnnpmuhhP[)
burnurlntplnth lrpur\urhurgbhlnt
pmlltnrlntpluh hruilurP

opurgntgurl$r ururPntil

lntprupurhgnr-p rlhPhhutl]t

hullurn' ururuP hurqurP 4Prurl.

ryrntlgurlunlrp hur2rlup\\ 12-p1 hnrplurblr 2-p4 rluulr hunftu&ru1h

0,75 gPbur\gb \]rPrunr'IunlP
7 500

/ nphruqup hlrhqhurPPt1t/

500 000

/hlrhq hurpprP hruqurP/
15.

t2il]rurblrh hullurlhPlt

{urp2ur\urh uurPurbPnul
purrprpurglrur\urh
hnqbhurtrquurlr (hPurdt2utlt)

blruur\rurnurpntplur[
burnurlntplnthhtplr

]rpru\urhurgrlurh L $tud)
rlurumrgrftuh pnr-11urt{mplurh

hurdurn'

opurgnqurl|rh ururprlur hulhup' hlrtrq hrulln4 hurqurp rgrruil

16.

t2rllrurblrt huuturlhPlt

riurp2ur\urh rnurPurbPnul

ilruutnurlnp qhphqrturtrurururh

\urqrlur\hpqrlurtr h

2urhruqnpbrfiutr pmlltntlnrplurtr
hunlurp. opurgntgurl]rh ururprlur

hunturp

@ rftu\hphu nthtgnq qtphqttrutnuurtrtllt

hrurlurp' tp\m dlrfrnli h]rhq hurplntp hurqurp lprurl'

2.500.000

/bp\nt dlrfrnt h[Lq
hurntntn hurqurTV

@ptu nttrhgnl qhpbqrftuhuurtrtplr s.0m.000

/hhtrq {hrhnt/

@ rlur\bphu mhtgnl gtphqrlurtruurhhplt

hrrr,frrrn' rnn rlhrhnh nnurd.

7.000.000

/rnra rlhrhnL /
- + 10 h*-t g *rttt rfur\tphu nthtgnrl qtptqrlurhunnhhplr hudup

ururu tihthntr nnulf:

10.000.000

/rnuru rthhnt/

\7.
hunlurlhplr rlurp2ur\utt
uurpurbpnul urhlultlr\ur\ub lt
hutnnt\ tr2urtrur\ntPlurh

hpuulrunntplnth

]rpur\urhurghhlnt
o-,,,,nrlnr arrrrh hrrrrfrrrn

opurgntgurlfrtr ururprlru hullurp hlrunilr hurqrupirg {tltr2b tphp hupptp
hurqurp 1punl.

50 000 /hlrumL hurquP/

18.

hunlurlhplr ururPurbPnul

uuhrlurbullrur\tturh hbPut\tu

burnurlnrplurh oPlt\utlt
qnpbnttrhntplurtr pntlyrtlnrplurh
hurdurp

@, urunttrurl]r h 2nqtPurqbbPh

tr*rt*pt lpurg".Srlrlit, ururprlur hullurp' hunlurlhplr rlurp2ur\urtr

rnurnurbpnt{ ururun h*q*

20 000

/puruh hurqup/

300 000

/hptp hurpptp hurquP/

zuuuS\fF'[b rI. quuqurSuL



Zui{hltluE 2

2uruurunmlurb t
2urluruururhlr 2urhpurqtrnntplurh Uprlulllrntt ilurf qh

h2rilrurblrh hurdurlhpfr ullruquhl.
2020 prlur\urtr[ 1t\ubtiphp[ 18- ]t

fdhq 12 Lfrum[ p]t{ 124-L npn2rlurh

bgur,uot t zuuugwnbu 2021o. sb,luqut" q&LlfLbrh sbuuqLbrc
b.I']fl11.3PU2U@bfC

Shuu\p
' 

'Ipnqprulullrg
/uruhrlurhr[rub opttrpn{

Ur[urqurbrt l1"qr[hg
uurhrfiulnlruE

nnnrrpurrulhhnp /22 +nuiln{/
I 2 3 4

,I{WLbf

1

t2rllrurblrh hunlurlbplr ururpurbpntrl 2hhpir \ud
2]rhmplurL urprnurplrh uhupp tn*"lu".t
rltpur\urnntgrlurh ur2]uurururhpthp \urururphlm
hhur \unqrlrub utlubir\unntlnhuur\rutr
qur3riurtrtrhp rl2ur\h1nr h huruururtntlnt hurtlurp
hrurlurltplr rlunnnrgrub burnurlnr-plnthtrtplr {llug
rlrnluhuungilurh {durp.

ur/ huruurpur\ur\urtr,
urpuruqpur\urh

2]rtrntplnthhhp[ hurfup

s0.000

/hlruntb huqup/

p/ phu\h$ rnurtr h lpur
uquruurp\durh

2]rLmplntthhp[ hulftup

5000

/h[rqhuqup/

2.

durpururpurqhurur2]rburpurpur\rutr burluutqbul[tt
rfruruururprptpn{ hur}uunnturlurb'

2]rtrupurpntplurh pntllurrlmplnr-h qurhurtr2nrl,

Fntnp 2]rtlupurpur\urh ur2|uunnurtrphtph

|rpurllurLurglrtlnr-g hturn' 2hbphplr L
2]rLntplmhtrtpl, (urt+ p{ntil' l}uLg
rlhpur\urnnqmrfg, tltpur\urltqlmtilp,
ndtlurgnulp, urp{rurllutnugntdg, plullurlLnultt
nL purpt\urpqntilp) \urnntgrfurh unlurprng
ullurpurur\ruh u\tnn{ rfruruururqllurh
&hur\hpqtturt hurtlurp' hurlurltrp[ rlururnrgurb
burnurSntplmhhhplr +hilug {m}uhurun.gtlutr
rldurn.

uy' huruurpur\ur\urh,
urprnurrgrur\urh

2]rtrnplnttrhtpfr hut{up

50 000

/hlrumh hurqurp/

p/phur\h$ rnurh h rgrur

uquruurp\rlurtr

2|rlmrpprthhplr hunturp

5000

/hlrhqhuqup/

3. durpuurpurqhtnur2[rtlupurpur\rutr tluluurqbur3]rlt

ur/ huruurpur\ru\utr,
urprnurrpur\urh

2[rhntplnttrtrhp]r hullurp

I 5 ru2luunnurtrpul|L op{u
phpurgpnul r.npuliuqphlnr-

rlhqpmd'

50 000

/hlrunth
hurqur/

rlruruururplphpntl hurlururntutlurb
ur2|uurururbphhph ur{urpurtlntg hturn

2ruhurqlpbrlurh pntllnrlnr-p1tuh &hu\tpqdutr
hullurp' hunlurlhplr rlunnmgurb
burnurlntplmtrhhplr +InI*g qrnluhururnt$IuU
.ld*f

3 ur2|uurururhpurl[b op{ur
gtpurgpmrl rnpurtlurlphlnt

hrurlurp'

70 000

/lnpurburunth
hurqurrr/

p/ pbu\h1]r ururL h rlpur
uqruuurp\rlurh

2$mrpSntbbhplr hudup

4-fg 6 u2|uuuurhpurl|rh
oprlur phpurgpnul

rnpuriurqptlnt 4tqpntil

5000

/h[Lq hurqup/

3 ur2|uunnrutrpul]rL op{ur
phpurgpmrl urpunluqphlnt

hurtlurp'

15 000

/uuuhhfirq
huqup/

4.

hudutlltplr urtropfrtrnrplurh h oqururqnpbdurh
trtppn qtnLqq hrqtfp hurur\urghtlnt, htu
tlhpgLhpr h {upd.ur\ur1nq91urtr rnpurlurryrtlnt

4tqptpmrl r[uunnurprptp]r ({uptp}r)
Lurluurqururpururnrluh hurlurp' huilultplr
rftuurntgurb burnurlmplnr-hLhplr +lliurg
$nluhuruntgilurh {durp.

rllrtr2h 100rl'?

101- 1000 il,

l00l ri'?-10000 il'?

10001 ilLbg utqh$

5000

/hfbqhuqup/

10m0
/rnruu hruqrulV

20.000

/puurtrhurqurp/

40.000

/purnurunth
huqup/



5.

hu{u1hp[ \nqrlhg \uqUu\Upqqq ilpgmlphhp[r
h urdntprflrhp[r rfuruhur\gnrplurh hurdup'

Upgntlpbfplr
iluuLurt ontrar urh hurilurn

20.m0
/ouurh hurourn/

huilughplr rlururnrgurb burnurlmplnr-hbhplr 4|r{ug
rhnhhururnrcdurtr rl durn.

UdmprlLbplr
iluruhurL qnrBtuh hutlurn

u6ntp$ ryrlub qnqpf {h\Lurp\u1[r
rundtph 17o

6.

hurdutlhplr rlup2ur\urh ururprubpmrl
urntrullrudurnLtplrtr ({hphfuudhhpft)
rlurutrur\gh1nt hullurp' hullurlbplr rhuuntgurb
brunurlnrplnthhfplr +bilurg rlrnluhururngrlutr
rldurn.

opur\urtr 10m
/rlh\ hruqrup/

7.

hrurlurShplr \qtthg uqpuhurhnr-p1urh {d*l
{dupnrlLhp[ hunlurp uugrurhurtrnrplurtr
u2]uuururLphhpp \urqtlur\hpqhlm hullurp
uug:urhurhmp3urh {durpp huntrulbpir urtlurqurLnr

\q.tlrg uurhiluhrlmr[ [ .tkpurhuhntplurL lr
uutrlrururpur\urtr r,lurppriurh riurulrh, 2ruluruururtrlr
2rutrpurqhurnrplurh opbhBn{ uurhrlurLrlurb

\*nq"tl l, rlpnrlpurlun[tp]r uurhrturhhhpnr-d.

1. puur hur2tlurnrlurb
urtrdurtrg purtrur[[r'
hunturlhpnul urtrd.trurqpul|rh
hur2rlrunrftutr \urtnhhhpnrl
puur hurugtlr hur2rlurnntrl
ntbbgnq h (\rurl) phur\rln1

lnr.purpurbgmp ptrur\th
hurturp' urduur\urh
h[umL]rg il]rhlr 2npu
hruplnr-p 2urluruururhlr
2urtrnurru turnlmurh nnurr.l

200

/hp\nt hupptp/

2. O2pLu\tfr hqrurmu\ur1]rh h2urtrur\mpluh 2thptpntrl h (\urtl)
2lrhmpprhtrtpnul urq;urhurtrnrp;urb rl6*pp uurhrftuhrlnul t guur 2[rtrnrpluh

ph4hurhntp rlurhhnhuh hhurhlurr nnntrpurrulhtnnrl.
l) unhurp[, hurtrpur3]rh uhtrq]r h

\hhgurlur3 [rh burnurpr-p1 nr-hhhplr

{ururnrgrhuh 2hhptp}r h

2|rlmr-plmhLhplr rlurun{' rlh\
purnur\nr-ulr rihrnp rlur\hphulr
hurtfurp' hlrumtrlrg rllrh2h hurplmp
lurluruururblr 2urhpurqhrnnrpl urh

nnunl.

1m
lhuplnd

2) hlnrpurLngurl]rh urhurtump;urh
oplt\rnhhplr, rnpruhuqnpul, prtnl,
*lrqtlh \ur1urhhhplr
(u{un\urlurhhhp}r,
orlurtrurrlur\urlurhhhplr,
hp\urpnqurl]rtr \ulurpurhLhplr),
huttrquurlurh urtrhplr, purqurhtplr nr
dutilpuphhplr, uqnpulr hurlurp
hurluururhurlurb 2thphp[ h

2|rtrmplmhLtpfr duuml' ilt\
punu\mu[ ilhurp rtur\bphu]r
hunlurp' puurhlrg dlrtrlr hlrumh
Zurluruuurhlr 2urhpurqhrnmpl urL

4ntuil.

50

/h[uml/

3) u.$]rtrurhuur\urL h \urqlr
hunlurp trurluururhurlurb 2hhphplr h
2]rtrnr-plnttrtrhplr rlurun{' rlh\
prunur\mu| rlhup rlur\hphulr
hunlurp' rnuruLhlrhq[g rf]g2tr

Buurh lurlururnurhlr
2urhnuru hurntrdl urtr nnuril.

20

/puurl/

p..{rup1u\runullurp2ur\ruh h
runnl2ruqurhntpluL hurhup
hurluruurhurlurE 2thphplr tr

2lrtrnrplmLhhplr riurunrl' ilh\
purnru\nrulr rlhurp rfur\tphulr
hrur.lurp ururuhhlrtrqlrg rlfrtr2tr
puurh huluruururtrlr
2urhpruq hrnntBturt 4nurl.

l5
/uuuhlrhq/

4)ur. qlrurur\utr, $pur\urh tr
munlrftrur\urtr tr2urhu\nr-p1urt,
ung[rurlur\urh urqurhnrlnr.plurh,
d2ur\m1plr, urprlhurnlr,

\pntrur\utr, qur2tnunlnr-hpur1frh,
purrlurprugfur\urtr
ulur2uqurtmplurh hunlurp
tluluurutu{urb 2hhptp}r h

2]rhnrplnr.Lhhplr riuruml' rlt\
purnurllmulr rlhurp rfur\bphulr
hruriurp' tntphq rlhhlh ururutrhhtrq

3

/bphp/



2urpruururhlr lurhpruqhurntpluh

p. qnpruhnghtPlr riuruntl rih\
purnu\nrulr rlturP rlur\hPLult

hunturp' nrp Zur;ururnurtrf

urprgnttrurpkpru\urtr h
glnuluuhurtuur\urh
tr2urhru\ntpluh 2htrPhPlr lt

2]rLntppttrhtplr rfurun{ (up}

prlntrl' unlurn\urlurtruurh{r)' rlh\
prunur\ntulr rthrnP rtur\hPhult

hrurftup' hlrhqbg {btltr
unuuhhlrbq 2urlururnurhlr

hur{urdurlh unrlh druu}r 1-5-pq \hurhpn{
uruhrlurtrdurb 4pntlprulunlrhnlr' tph
urqpurhruhnrplurtr rldurp rlduphlnt

qurprnrurlnpnrppttr nttrhgnl urh&g 4pur
tlurulrtr qpurqnl urtqt\urgbntd t

hurdurlhplr r1t\ullurplrtr \gh1nq L2quE

hulmlurbtrhp[ rlur\tphuhtp]r tr2nulntl

uluhrfurh, |ru\ huulurlhp[ th\u{utp[lt
pnt4h\urghhlnt thulPntti

hur2tlup\rlnuf L unrlh rftuulr 1-5-pr1

6)2[trntplnthtrhpnul, npurhrl

|rpur\urhurgrlnul t rft\|rg urqh$
runuhd,trurg{urb uhrntuur\urh
qnpbnthhntplntt,
urlpurhurlmtplurtr {duPP
hru2{up\rlnr-rl k lntpurputrgnr-p
hutnrlrublr hunlutp guur ullurl
hurunlrubmrl |rpur\urtrurg{nr1
qnpbnthtntplutr rnhuu\f '

ruryluhurtrntPPh rldurir 2|t

hur2rlurp\rlntrf, hph 2]rtrntplntbnut
rl2uurqtu \ull durdurtrur\ullnpulqtu

nptrt qSpbnttrtmPlntL

2]rpru\urhurghhlnt rlhpruphplutl
urqpurhurhntplurtr rldurp tldurptlnr

qurpuru[lnpntp]nr-h nttrhgn{ rubdp rlpur

rtruulrh urtlh\urghmrl I hurr'turlbpit

th\unlurplrtr, [ru\ hunlurlbP]t

at\ur{urpirh 2tnbrlh\ughhlnt thqpnttl
hur2rlurp\rlntd t unrltr ilurulr 1-5-pr1

7) 2|rtrnr"p3nr-trhhpnui (urp1

runurtr&trurgrlrub rnbuturu\urtr
qnpbnthtntp3urtr hulluP
burluururhur{rub 2}rhruppr-hhhp}t
urnurhdlrlr hruurlurbhhpmrl),
npurhl nphk qnPbnrhtmPlnth
ri2unuqhu \uui
duniurtrur\urlnpurqhu 2]t

|rpur\ruhurg{md,

qurh{nq urntrurp}r h huhpurl}rh utr@r

burnurlntplntbhhl|r rlutnnr-g{rutr
.l*lphnt, rluruml ilh\ Purnur\ntulr
dhtnp rlu\tphulr hutlurP
hlrunr-trlrg rllrh2tr huPlmP

ZruSuruururLlr Zurtpruqhurntp3urh

,zCtt phphg 1, ,bt ".flntLhhplrg 
rlnrpu qrntnlnl urntrurplr h hurLpur;]rtr utrlqfr

uugrurhurlntplurh {durP 2}r

hur2tlurp\rlnr-tf, tpt 2hhphpirg tr

2]rlmtplnrtrhhphg rF .F* quhqill
urntrurpir b hurtrpul|rtr uhlqlt

oplh\rntrtplr, burnrulntplnthhhplr
rftuurnqr.ftuh tltulpbpntri rl2uruqhu \uli

dullurtuu\unlnPurqtu nPlrt
qnpbnthhntplntLr 2]rpur\urhurghtlnt

rlhpruptp3url uqlurhutrntplurtr r{drup

tldurptlnt ulurpuruulnpmplnttr nrhhgnrl

urhdp lpur tlurulrh urhlh\urgtrnr"rl t

npurhl npht qnpbnthtnr-plnrh
rl2ururqhu \ull
druttutrur\ullnp urqhu 2|r

|rpur\urhurgrlmd,

3Jtt t$lrg*\*fht *ry]r hullurp, ]rhlqtu Lruh n2 phur\tfir ururpubphtp]t
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